Intermediate Algebra Exam 4 Forms A, B  Dr. Rapalje

INTERMEDIATE ALGEERA EXAM 4 A¥* NAME

SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.
TURN IN ALL WORKSHEETS. CALCULATORS ARE PERMITTED ON THIS TEST.

In 1 - 6, solve the equations by the method of your choice:

1. 12X -3 | =7 2. | 2K -3 | = -7

3. X2 + 8X = 20 4. X2 + 8X = -20

6. (X + 5)(X -1) =2

I
N

5. (X + 5)2

In 7 - 13, solve the inequalities. Give interval notation:

7. 12X + 5|1 < 5 8. |2X + 5| > -5
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9.

11.

130

12X + 5] 2 15

X2 - X -12<0

4 - X2 > 3x

10. | 6 - 3X| < 15

12. X2 -x -12 >0

In 14 - 15, find X:
14. 15.
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16. The area of a circle is 500 square centimeters. Find the
radius of the circle. Use =3.14 (or calculator value),
and round to nearest hundredth.

17. The area of a triangle is 20 square cm. The base is 3 less
than the height. Give the equation, the base, and height.

18. The longer leg of a right triangle is 1 less than twice the
shorter leg, and the hypotenuse is 1 more than twice the
shorter leg. Find the sides of the triangle.

365



Exam 4AX Solutins
sz-g[:-7 S. 7<2+?x=20 4. x 7‘8)(—-—29

/o [2x=3|=7 2.
(x+0)(x-2)=0 z:aesmz‘%/

2X=lo0 2x=—4 - 20 azl £= e= 20
; o q_-/o x=2) &=l 4= -
@ _ ==2) M —e-'- 64— 4(1Y(20)
5. (x+s)*=2 . éu-s-)(x I) 2 7 /2x+f% 2

X+5—= =2 Xé’-“X §-2=0 :Z-s/i S 2xtsmg = N %

T2 e el e s (D
/i -
0. [6-3x|@i. - 4z Z—- —s<x<o (c,.,,/ef,n,%w,e_ /)

_1s'<§é-3x < IS" e«s/er
-5
—2¢ 3y € 3_ = 2= Z‘r- 3. lzx+sl>—s- 9. [2x+5 | 3

=3 - =3 - ~ -/
(-24- V77 ) Au 2= 150 2= I
72 7<2"3 ‘ i —-oo, === Tx==2

1 X2 %~ oy , =-/o
=0 51441& 12, x 2 x—1230  EXTREMES | @—wr'?]v[s“)

X=4 X= -3 end t #l.
. A= Ty =
3. 4ox'23x '4';:{ \7 N e L sz2
“X=3x+4 20 / s
& Ts\/-ﬁa’

x%3x 4?93‘?1” e ™ ¢y r=xt .
fraGoh=e T e Chanyen
= 2_ X’z 180
X =228 f '
[=4,1] K=t ls <= +\/I§0 57«:22}:_
ED £ e

(7. ’&tx-'-' Adi'ql'{" |
x-3 = Dreln g,
g )=t b o) (el
)2/ XCX"3) = 2-0) o = (2x+(
W sy S
x%3x—0=20 2%-1 = - ol
L =D e+ = cae X -g—x—_
(x=8)(x+5)= e
x=‘§_a\ % AN
-3: .

366



INTERMEDIATE ALGEBRA EXAM 4B* NAME :
SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.
TURN IN ALL WORKSHEETS. CALCULATORS ARE RECOMMENDED ON THIS TEST.

In 1 - 6, solve for the equations by the method of your choice.

1. I3X + 9] = 9 2. I3X+ 9] =0
3. X2+ 8 = 6X 4. 6x% - X = 35
5. (X + 5)(X -1) =4 6. (X - 52 = 12

In 7 - 13, solve the inequalities. Give interval notation:

7. |8X - 10| < 10 8. |X - 4] < -4
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9. |5%x - 10| > 30 10. |6 - 2X| > 14

11. X2 - 12X + 32 < 0 12. X2 +X-122>0

In 14 - 15, find X:
13. 4 - X% > -3X 14. 15.

12

368




16. Write the equation, 17.
solve for X, and
find the sides:
4X-3 3X+3
X
18.
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The circumference of a circle is 26mn centimeters.
radius and area of the circle.

The area of a rectangle is 20
square cm. The length is 3 more
than twice the width. Give the
equation and the dimensions.

Find the
Give area in terms of .



Exam 4B solilavns
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